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'I'licw tliioe c<|iiation,s

:

HID u

P=: .2!) P

iinil L = F— H (5)

will w)lvi! :i|| tho simpliT prolilems of sinj;io throw tiininut, but in tlio

(limble ami troblo throw souicthiiii; iiKirc is wiiiitcd, h was eases like

ilin. 4 ami ."> which .-ct tlio writor thinkiii;;; on the follnwinj,' lines.

I'otiirnint; to fi-;. li again, the ott'set at the end of a 100 feet chord of

a 1° curv(? is 0.87 ft., and ineronsos proportionally to ihn degree of

ourvatuie. Ilcncc for a curve of [)° it will bo .87 D and aa above

for any other distance (within moderate limits) from the point of cur-

vature, it will bo for N foot

.87 D . (JL)'

The total deflection'iit the end of this distance will be

Then for fi''. 3 we have _ .; 87 n — „ r„\
100

°' " — n W
and X D

100

" CO

SimplifyinK Qt) and (4) F ^D = 10'!£?.K „„d FD ^ 100 a
.87

F "D -^ 100 " F

therefore 100 n F = lOOOOj;

;.87

Subftitutini; in (l>)

F =

100 n

.87 n

ino fv

Tnfn

D
loo

115

D

(6)

.87 (7).

and

Substituting for—„ and -—the same values as before, 1 in 10 or 5°.75
—and for g—4.7 ft , we get

:

P = 94 ft. as before

D = 6°.12or1B°07'

8 = 27 ft.

L "=
()7 ftT

Cemparin- with Trautwini.'s tables, we find for a 26 ft. slide rail,

a lead of 72. 7 or F --- !)0.7.

and R--S77or D:=6° 30'

We have thorefore saved fi ft. of load or 12 ft. of steel, and got a
slightly easier curve on it.

Lower down in (lie same table we will Qiul that with a Hi ft. slide
rail, we will have a lead of 07.8 and a curvatuio of 6'' 15' practically
the same as above, but with an angle at the heel of 1" 30' whieh is

rather abrujit for high speo.Is :iiid eertainly not as desirable as a con-
tinuous curve.

Let us now tike up fig. 4, a tl.ree throw switch with two 1 in 10
frogs, on the main line. Wt- wish to determine the longitudinal posi-
tion of till' third frog. We have given the cu.vature I):-(i°.12 the
oftsot for whieh for 10(1 ft. or 0~=.87 D = r. :! ft. (fiom the tabhs)

.

Sine; the tl:ird frog is eviileutly in the centre of the gauge, we have
the total nffaet—i g or 2.3.'). hence the ei(ualion

(looj '
•

5.3 .^ 2.35

Fi' = 4434

F, = CO.fi

Li = 40 (nearly)

Tliis hist, problem can of course be reudilv solved bv a drawini'

not wulijut considerable eonstruotiou work aud labour.

but


